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Multiplicative Comparison | Within 100

1) Linda's box has 2 donuts, while Laura's box has 5 times as many. How many
donuts does Laura’s box have? o

Look for what’s given:

Linda's box has donuts.

Laura’s box has times as many. @ @
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3) Pamela had 3 unicorn erasers and 8 times as many emoji erasers. How many
emoji erasers did Pamela have?
Look for what’s given: {f ‘
Pamela had unicorn erasers.

She had times as many emoji erasers. ‘ t e {? ’

Write the equation and solve the problem.

Answer: Pamela had emoji erasers.
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